SHTEE KRFLEEBISEER TEFE (£1ERA)  (250502kR)
7 A 8 A 9 A
= i~ B2 . W2 =
H 5 1T =) "% | B 5 1T k=) "% | B - 17 =<3 wE
1|k |50X 4 1 1|4 O | 1 | A |BEFEEWE(~9/12, 9/19, 9/26) 1
2 |k [HIRER 2 2 |+ O | 2 |k |[HBBEBRIERKN Y] (34) 2
% 7
3| K| HIERERE = 3 3| H /_'( O | 3|k 3
ijj e e N YA
k TEERRE R
4 | & | HREA :_TE 4 | 4 5 O | 4 | K gy tkoim 4
I
5| + o | 5|« ; O | 5 | 4 [kt ) 5
=R
6| H O | 6 |k ; O | 6 |+ |PIAEITEES O
HRE A i
) FRER 2K Y (34)
8 | k| BIREE 6 | 8 | & O | 8 | A [k sa5 H 6
50 X 4 4
O | K s g pesa e 79| % O |9 |k ;
50X4 1 « 24 R134+LHR CGEW7El B2
10| A =) 8 |10|H O | 10 | K |[FEER 2K EE S 8
SEA1342 N Y
50X 4 B BRRHIE = 1
& o 103 1A EH = o u e R S L ?
37 = Eﬂ J %E%{*EI e i =g =N I\
12 j: ZQE%HBT%E& % O 12 )( ?Tifﬁffﬁ O 12 (j? :}:Elﬂi*)(g%ﬂi%nﬂ%x(3ﬂi) 10
13| A 3 O | 13|k BT B O |13]+ @)
14| H P01 10 | 14| K AT H O |14|H O
ARE—FBIT H Bl
15| & [50X 4 11 |15 | & FREAT H O |15 | A |[#EDH O
\4
NS \ : ML N {7 2 HE 2 : N T o1
16| K go-éziéiiobﬂLHR(J\*ﬁHR) 12 |16 |+ bR o |16 Eﬁﬁ?&%g‘égfﬁémf“ BT B i1
50X 4 34F : H567K6
17 | A |24 - A56+KF3iH 4 13 |17 | H O |17 |k 12
14E : H56K56
50X2 k564 KL, 4
18| 4 iR 224 s (e 1)) 14 | 18 O | 18| K 13
19| + O | 19 |k |[FEER —E AR (34F) O | 19 | & | PATEHEFER N ~ Y) (347) 14
— - X -
20| H O | 20|k ég%?ﬂk%ﬁg‘%z”l 24F) 1 |20 |+ |HEFHEEO @)
KFRFAF)  FBERKHAZ BF)
21\ A ? O | 21 | K |50 % k1256 (2 - 3F) e 3 F— (245) 2 |21 H O
o | EFIRE (~8/19) n L
22 | K | g =3 e (~8/18) ?EJ O | 22 |4 |50x4 /K567THT 3 )22 BRI H 15
=]
23| 7k O | 23|+ O |23 | k| DH O
24 | K O | 24 | B | (34FEF B O | 24 | K | PRAZEERESE 1 16
— 2EERREN AL
N ‘U';ZJ Ko TN = ‘
26 | + O | 26|k iggﬂ%tﬁgﬁﬂgﬁﬁ%@@@ 5 | 26 | & | PREREEDHS (34F) 18
ot 50X4  7K14:567
27 | A [3FEFM B O |27 | Xk e 6 |27+ ,g% O
A 7
28| A | &K —FIRTH O | 28| A& [50x4 H56k56 7 |28|H ) O
24E 1 50X 4 H 7654 (24F) s
29| k[ b #EE O |29 |4 |50x4 8 |29 | A |L-3% : 7654321 1k 19
Sfs—FRFFA
o T HE A QF)
30 | 7k O |30 |+ O |30 | K| st waim e (345) i 20
31| K O |31|H O
BET U — MO FE-RERBRA AT 1 AT —~ Bl
BRI HRE ZERARLHFHSLHR (1 « 24F) RE - HEafm2
SR EL B R e KER880 7 A Al GREHE )
k= % 5%
LR 1 2 3 4 AR 1 2 3 AR 1 2 3
SR - BHEORER 14 | 14 | 14 HE - B E ORER 8 8 8 YR - BHE ORER 20 | 20 | 20
INEE 1T%H 0 0 0 INEE 1THEH 0 0 0 INER 1T H 0 0 0
RZEH 17 | 17 | 17 RZEH 23 | 23 | 23 R H 10 | 10 | 10




